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TNPSC Group-IV Model Question Paper 
 

General Studies 

 
Questions: 100               TNPSC  VAO-002                      Duration : 70mins 
 
1. Which of the following statements are correct? 
 1. Balwantray Mehta Committee was appointed in 1957 
 2. Ashok Mehta Committee submitted its report in 1977 
 3. G.V.K. Rao Committee submitted its report in 1986 
 4. L.M. Singhvi Committee submitted its report in 1987 
 a) 1, 2 and 3  b) 1, 2 and 4  c) 1, 3 and 4  d) 1 and 4 
 fPo;f;fz;l $w;Wfspy; rhpahdij fz;lwpf 
 1. 1957-y; gy;te;j;uha; Nkj;jh fkpl;b epakpf;fg;gl;lJ. 
 2. 1977-y; mNrhf; Nkj;jh fkpl;b mjd; mwpf;ifia rkh;g;;gpj;jJ 
 3. 1986-y; [p.tp.Nf. uht; fkpl;b mjd; mwpf;ifia rkh;g;gpj;jJ. 
 4. 1987-y; vy;.vk;. rpq;tp fkpl;b mjd; mwpf;ifia rkh;g;gpj;jJ. 
 a) 1> 2 kw;Wk; 3 b) 1> 2 kw;Wk; 4 c) 1> 3 kw;Wk; 4 d) 1 kw;Wk; 4 
 
2. Name the district in West Bengal, which is said to be the 1st open defecation free 

district in India? 
 a) Burdwan  b) Nadia c) Hooghly  d) Asonsol 

Nkw;F tq;fj;jpd; ve;j khtl;lj;jpy; nghJ ,lj;jpy; kyk; fopf;Fk; gof;fk; 
Kw;wpYk; ePf;fg;gl;Ls;sJ vd mwptpf;fg;gl;Ls;sJ? 
a) Gh;Jthd;  b) ehjpah c) `_f;sp  d) mrd;Nrhy; 

 
3. Legal certificate is 
 a) Income certificate    b) certificate for a person getting legacy 
 c) Identity certificate    d) Nationality certificate 

 „Legal certificate‟ jkpo;r;nrhy; mwpf. 

 a) tUkhdr; rhd;W     b) thhpRr; rhd;W 

c) Mswpr; rhd;W      d) ehl;bdr; rhd;W 
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4. The term ‘Cabinet’ is mentioned in which of the following articles of the 
Constitution? 

 a) Article 74     b) Article 75  
 c) Article 352    d) Not mentioned in the Constitution 
 Nfgpndl; vd;Dk; ke;jphprig Fwpj;J ,e;jpa murpayikg;gpy; ve;j ~uj;jpy; 

Fwpg;gplg;gl;Ls;sJ? 
 a) ~uj;J 74    b) ~uj;J 75 

c) ~uj;J 352    d) murpayikg;gpy; Fwpg;gplg;gltpy;iy 
 
5. Exercise HAND-IN-HAND 2015 was conducted in which part of China? 

a) Hainan  b) Shandong  c) Yunnun  d) Guangdong 
HAND-IN-HAND 2015 vd;Dk; gapw;rp rPdhtpy; ve;j gFjpapy; eilngw;wJ? 
a) i`dd;  b) N~d; lhq;  c) Ad;Ed;  d) Fthq;lhq; 

 
6. Find out the Mismatch 
 Headed by    Expenditure to conduct Manu Neethi Thittam. 
 a) District Collector  - Rs. 1000 
 b) District Revenue Officer - Rs. 750 
 c) Deputy Collector  - Rs. 500 
 d) Tahsildar    - Rs. 400 
 nghUe;jhj ,iziaj; Njh;f. 
 jiyik Vw;gth;   kDePjpj;jpl;lk; elj;Jk; nryT 

 a) khtl;l Ml;rpah;  - & 1000 

 b) khtl;l tUtha; mYtyh; - & 750 

 c) Jiz Ml;rpah;  - & 500 

 d) tl;lhl;rpah;   - & 400 
 
7. Which of the following Constitutional amendment Act provided for the appointment 

of the same person as Governor for two or more states? 
 a) 4th Amendment     b) 7th Amendment 
 c) 11th Amendment    d) 24th Amendment 
 xNu MSeh; ,uz;L my;yJ ,uz;bw;F Nkw;gl;l khepyq;fSf;F MSeuhf 

gjtp tfpf;fyhk; vd toptif nra;j rl;lj; jpUj;jk; vJ? 
 a) 4tJ rl;lj;jpUj;jk;    b) 7tJ rl;lj;jpUj;jk;  
 c) 11tJ rl;lj;jpUj;jk;    d) 24tJ rl;lj;jpUj;jk; 
 
8. Electricity Generating ________ is named as Free Electric. 
 a) Cycle   b) Car c) Nuclear Reactor  d) Steam Turbine 

kpd; rf;jpia cw;gj;jp nra;Ak; vjw;F “Free Electric” vd;W ngahplg;gl;Ls;sJ? 
a) kpjptz;b b) fhh; c) mZciy d) ePuhtp tpirahop 
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9. How much of rice/grains provided to the old age beneficiaries under the scheme of 
Destitute old age pension in Annapoorna plan 

 a) 5 kg  b) 10 kg  c) 12 kg  d) 15 kg 
 md;dG+h;zh jpl;lj;jpd; fPo; toq;fg;gLk; Mjutw;w KjpNahh; Xa;T+jpa 

jpl;lj;jpy;  gad;ngWk; taJ Kjph;e;j gadhspfSf;F khjk; xd;Wf;F 
vj;jid fpNyh czT jhdpak; toq;fg;gLfpwJ? 

 a) 5 fp  b) 10 fp  c) 12 fp  d) 15 fp 

 
10. The correct statements about the  cantonment boards are: 

1. The system of municipal administration is a British legacy in our country 
2. They are set up under the resolutions passed by the Ministry of Defence 
3. The Ministry of Defence exercise direct administrative control over them 
4. It consists of elected members only 
5. The executive officer of the board is appointed by the President of the board. 
a) 1, 3 & 5  b) 2, 3 & 4  c) 1 & 3  d) 3, 4 & 5 
,uhZtf; FbapUg;G thhpak; Fwpj;j rhpahd $w;Wf;fisj; Njh;f. 
1. ekJ ehl;by; gphpl;b~; MSif tiuaiwfSld; nray;glf;$ba efuhl;rp 

eph;thf Kiw. 
2. ghJfhg;Gj; Jiwapd; %ykhf jhf;fy; nra;ag;gLk; jPh;khdq;fspd;gb 

eilKiwg; gLj;jg; gLfpwJ. 
3. ghJfhg;Gj; Jiwapd; %ykhf Neubahf fl;Lg;gLj;jg;gLk; mikg;G 
4. ,J Njh;e;njLf;fg;gl;l cWg;gpdh;fis kl;LNk ngw;wpUf;Fk;. 
5. ,t;thhpaj;jpd; jiytNu ,t;thhpaj;jpw;fhd nray;gLj;Jk; mjpfhhpia 

epakpg;ghh; 
a) 1, 3 & 5  b) 2, 3 & 4  c) 1 & 3  d) 3, 4 & 5 

 
11. Name the 1st Women Secretary-General of Commonwealth, who is going to assume 

office on 1st April, 2016? 
 a) Louise Frechette b) Hilda Heine c) Baroness Patricia d) Tsai Ing-Wen 

Vg;uy; 1> 2016 md;W gjtp Vw;f cs;s fhkd; nty;j; ehLfspd; Kjy; ngz; 
nghJr;nrayhsuhf cs;sth; ahh;? 
a) Y}ap]; gpun~l;     b) `py;lh n`apd; 
c) g&d]; ngl;hp~pah     d) rha; ,q; - ntz; 

 
12. Notice of Birth reports in 
 a) Form – I  b) Form – 2  c) Form – 3  d) Form – 4 
 gpwg;G mwpf;if nra;Ak; gbtq;fs; vit? 

 a) gbtk; - 1 b) gbtk; - 2 c) gbtk; - 3 d) gbtk; - 4 
 

13. Which of the following acts laid the foundation of Central administration? 
 a) Charter Act of 1833    b) Regulating Act of 1773 
 c) Charter Act of 1853    d) Pitts India Act of 1784 
 ika muR miktjw;fhd mbj;jskhf mike;j rl;lk; vJ? 
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 a) gl;lar; rl;lk; 1833    b) xOq;FKiwr; rl;lk; 1773 
c) gl;lar; rl;lk; 1853    d) gpl; ,e;jpar; rl;lk; 1784 

 

14. BHAVISHYA online system was launched for the________ 
 a) Online Insurance tracking System b) Online MSME Registration System 
 c) Online Skill Development program d) Online Pension Tracking System 
 gtp~;ah vd;Dk; Md;iyd; Nrit mwpKfg;gLj;jpajd; Nehf;fk; vd;d? 
 a) Md;iyd; fhg;gPL fz;fhzpg;G Nrit 
 b) Md;iyd; MSME gjpTfs; Nrit 
 c) Md;iyd; jpwd; Nkk;ghl;L jpl;lk; 
 d) Md;iyd; Xa;t+jpa fz;fhzpg;G Nrit 
 

15. The permanent irrigation sources as providing water to the Ayakkat lands for the 
whole year is belongs to the category of 

 a) First class  b) Second class c) Third class d) Fourth class 
 tUlk; KOtjw;Fk; Maf;fl;L epyq;fSf;F jz;zPh; nfhLf;ff;$ba epue;ju 

ghrd Mjhuq;fs; ve;j tifia rhh;e;jJ? 

 a) Kjyhk; tFg;G      b) ,uz;lhk; tFg;G 

c) %d;whk; tFg;G     d) ehd;fhk; tFg;G 

 
16. Match: 
 a) Odema  -- 1. Insects 
 b) Hydrophobia -- 2. protozoans 
 c) vector  -- 3. accumulation of fluids 
 d) Pathogen  -- 4. Rabies 

a) 1 2 3 4  b) 4 3 2 1  c) 3 4 1 2  d) 4 1 2 3 
 nghUj;Jf. 
 a) clypy; ePh;tPf;fk;   -- 1. g+r;rpfs; 
 b) i`l;NuhNghgpah  -- 2. GNuhl;NlhNrhth 
 c) Neha;gug;gpfs;   -- 3.; EiuaPuypy; ePh;Nfhh;j;jy 
 d) Neha;f;fhd fpUkpfs; -- 4. Nugp]; 
 a) 1 2 3 4  b) 4 3 2 1  c) 3 4 1 2  d) 4 1 2 3 
 
17. Which of the following are not  federal features of Indian Constitution? 
 1. Supremacy of Constitution 2. All-India services 3. Single citizenship 
 4. Independent judiciary  5. Bicameral legislature 6. Integrated judiciary 
 a) 1, 4 & 5  b) 1, 5 & 6  c) 2, 3 & 6  d) 2, 3 & 4 
 ,e;jpahtpd; $l;lhl;rp mikg;gpy; fhzg;glhj $Wfs; 
 1. murpayikg;gpd; vNjr;rhjpfhuk;  2. mfpy ,e;jpag; gzpfs; 
 3. xw;iwf; FbAhpik    4. Rje;jpukhd ePjpj;Jiw 
 5. ,U mitfisf; nfhz;l rl;lkd;wk; 6. xUq;fpizf;fg;gl;l ePjpj;Jiw 
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 a) 1, 4 & 5  b) 1, 5 & 6  c) 2, 3 & 6  d) 2, 3 & 4 
 
18. Match the following: 

Nuclear Power Station         State 
 a) Kaiga  - 1. Gujarat 
 b) Narora  - 2. Haryana 
 c) Kakrapar  - 3. Karnataka 
 d) Tarapur  - 4. Uttar Pradesh 
 e) Gorakhpur - 5. Maharashtra 
 a) 4 3 2 5 1  b) 5 4 2 3 1  c) 2 5 4 1 3  d) 3 4 1 5 2 
 nghUj;Jf: 
 mZkpd; epiyak; khepyk; 
 a) iffh  -- 1. F[uhj; 
 b) eNuhuh  -- 2. `hpahdh 
 c) fhf;ughh;  -- 3. fh;ehlfk; 
 d) jhuhg+h;  -- 4. cj;jpug;gpuNjrk; 
 e) Nfhuf;g+h ; -- 5. kfhuh~;buh 

a) 4 3 2 5 1  b) 5 4 2 3 1  c) 2 5 4 1 3  d) 3 4 1 5 2 
 
19. Farmers Conservation project was announced by the Chief Minister in 
 a) 2000  b) 2003  c) 2005  d) 2008 
 jkpof Kjyikr;rhpd; coth; ghJfhg;G jpl;lk; vg;NghJ mwptpf;fg;gl;lJ? 

 a) 2000  b) 2003  c) 2005  d) 2008 

 
The following pie-chart shows the breakdown of revenues for a particular grocery 
store. The bar chart shows the detail of break down for “MANI FOODS”. 
fPNo nfhLf;fg;gl;Ls;s tl;l msit tiuglj;jpy; xU Fwpg;gpl;l kspif 
filapd; tUtha; mstPLfs; Fwpf;fgl;Ls;sd NkYk; gl;il tiuglj;jpy; 
kzp cztfj;jpd; tUtha; gphpj;J fhz;gpf;fg;gl;Ls;sJ. 
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    Total Revenue of first quarter $ 200,000 
  

 
Kjy; fhyhz;bd; nkhj;j tUkhdk; $ 200>000 
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20. What is the dollar amount of sales of canned foods in the first quarter of this year? 
 a) $ 6,000  b) $ 9,000  c) $ 18,000  d) $ 36,000 
 Kjy; fhyhz;by; milf;fg;gl;l czTfspd; tpw;gid njhif vd;d? 
 a) $ 6,000  b) $ 9,000  c) $ 18,000  d) $ 36,000 
 
21. Certain fishes like Gambusia can be introduced into the water like Ponds & Rivers to? 
 a) control the breeding sites of mosquitoes 
 b) to prevent the disease spread by the cockroaches 
 c) Gambusia help to eliminate rats. 
 d) for  purified drinking water 
 fk;g+rpah Nghd;w kPd;fis Fsq;fs; kw;Wk; MWfspy; tsh;g;gjw;fhd 

fhuzq;fs; 
 a) nfhR tsh;tij jLg;gjw;fhf 
 b) fug;ghd;g+r;rp %yk; Neha; guTtij jLg;gjw;fhf 
 c) vypfis tpul;Ltjw;fhf 
 d) FbePiu Rj;jpfhpg;gjw;fhf 
 
22. The correct statements about the Directive Principles of State Policy are: 
 1. They are borrowed from the Irish Constitution 
 2. They are incorporated in Part V of the constitution 
 3. They seek to provide social and economic base to democracy 
 4. The state must compulsorily implement them 
 5. All of them are Gandhian in nature 
 a) 1, 2, 3 & 5  b) 1, 3 & 5  c) 1, 3, 4 & 5  d) 1 & 3 
 murpd; newpKiwf; Nfhl;ghLfs; Fwpj;j gpd;tUk; jfty;fSs; rhpahdit 
 1. mah;yhe;J ehl;bd; murpayikg;gpy; ,Ue;J ngwg;gl;lJ 
 2. murpayikg;gpd; gFjp 5-y; Nrh;f;fg;gl;Ls;sJ 
 3. kf;fshl;rpf;fhd r%f kw;Wk; nghUshjhu fl;likg;Gfisf; NfhUtJ 
 4. khepy muRfs; fl;lhakhf ,jidr; nray; gLj;j Ntz;Lk;. 
 5. ,ay;ghfNt midj;Jk;  fhe;jpa nfhs;ifapd; fPo; tUk;. 
   a) 1, 2, 3 & 5  b) 1, 3 & 5  c) 1, 3, 4 & 5  d) 1 & 3 
 
23. Which among the following countries played the 1st Day-Night Test Cricket Match? 
 a) Australia and West Indies   b) Australia and New Zealand 
 c) West Indies and New Zealand  d) England and Sri Lanka 

fPo;f;fz;l ve;j ,U ehLfs; Kjy; gfy; ,uT nl];l; fphpf;nfl; Nghl;bapid 
tpisahbaJ? 
a) M];jpNuypah kw;Wk; Nkw;F ,e;jpa jPTfs; 
b) M];jpNuypah kw;Wk; epa+rpyhe;J 
c) Nkw;F ,e;jpa jPTfs; kw;Wk; epa+rpyhe;J 
d) ,q;fpyhe;J kw;Wk; ,yq;if 
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24. For which of the festival, to provide the dhoti/saree to men/women under the 

scheme of Free dhoti/saree supply to public? 
 a) Deepavali       b) Pongal 
 c) both of the above     d) either Deepavali or Pongal 
 ,ytr Ntl;b Nriy toq;Fk; jpl;lj;jpd; fPo; ve;j gz;bifapd; NghJ 

Mz;fSf;F Ntl;bAk; ngz;fSf;F NriyAk; toq;fg;gLfpwJ?  

 a) jPghtsp       b) nghq;fy;  

c) Nkw;fz;l ,uz;Lk;     d) jPghtsp my;yJ nghq;fy; 

 
25. The percentage of number of students getting at least 60% marks in chemistry over 

those getting at least 40% marks in aggregate is approximately? 
 a) 21%  b) 27%  c) 29%  d) 31 % 

Ntjpapaypy; Fiwe;j gl;rk; 60% kjpg;ngz;fs; ngw;Ws;s khzth;fs;> nkhj;j 
kjpg;gPl;by;  Fiwe;jgl;rk; 40% kjpg;ngz;fsps; ngw;wpUf;fpd;wdh; vdpy; 
mk;khzth;fspd; rjtPj msT? 

 a) 21%  b) 27%  c) 29%  d) 31 % 
 
26. Match: 
 a) Entamoeba Histolytice   -- 1. Amoebic dysentery 
 b) Rapid dehydration   -- 2. Hypotitis A 
 c) Malfunctioning of liver   -- 3. Cholera 
 d) Sexual Contact    -- 4. Hypotitis B 
 a) 2 1 4 3  b) 1 3 2 4  c) 3 2 4 1  d) 1 2 3 4 

nghUj;Jf. 
 a) vz;lkPgh `p];lhy;il];  -- 1. mkPgpf; tapw;Wf;fLg;G 
 b) ePuopT Neha;    -- 2. i`g;gilb]; A 
 c) fy;yPuyPd; nray;ghl;Lf;FiwT -- 3. fhyuh 
 d) ghy;tpidj; njhlh;G   -- 4. n`g;gilb]; B 
 a) 2 1 4 3  b) 1 3 2 4  c) 3 2 4 1  d) 1 2 3 4 
 
27. The features of Indian federal system are: 
 1. Division of powers 2. Separation of powers  3. Independent judiciary 
 4. Leadership of the Prime Minister  5. A written Constitution 
 a) 2, 3 & 5  b) 1, 4 & 5  c) 1, 2 & 5  d) 1, 3 & 5 
 ,e;jpa $l;likg;G Kiwapd; Kf;fpaf; $Wfs; 
 1. mjpfhukpf;fJ  2. mjpfhug;gphpTfs;  3. Rje;jpukhd ePjpj;Jiw 
 4. gpujk mikr;rhpd; jiyik  5. vOjg;gl;l murpayikg;G 
 a) 2, 3 & 5  b) 1, 4 & 5  c) 1, 2 & 5  d) 1, 3 & 5 
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28. The Idea of Solar Alliance has been mooted by which country? 
 a) China  b) India  c) USA  d) Russia 
 #hpa cld; gbf;if vd;w fUj;ij Kd; itj;j ehL vJ? 
 a) rPdh  b) ,e;jpah  c) A.v];.V. d) u~;ah 
 
29. Tamilnadu Government has sanctioned the monthly old age pension for the 

pensioner is 
 a) Rs. 500  b) Rs. 800  c) Rs. 1000  d) 1500 
 Xa;T+jpajhuUf;F KjpNahh; xa;T+jpakhf xU khjj;jpw;F jkpof muR 

mspf;Fk; njhif 

 a) & 500  b) & 800  c) & 1000  d) & 1500 

 
30. What is the different between the number of students passed with 30 as cut-off 

marks in chemistry and those passed with 30 as cut-off marks in aggregate? 
 a) 3   b) 4   c) 5   d) 6 

Ntjpapay; ghlj;jpy; 30 rjtPj kjpg;ngz;fs; ngw;wth;fshfTk; nkhj;j 
ghlj;jpy; 30 rjtPj kjpg;ngz;fs; ngw;wth;fshfTk; ,Uf;Fk; khzth;fSf;Fk; 
tFg;gpy; nkhj;jKs;s khzth;fSf;Fk; ,ilNa cs;s tpj;jpahrj;ij fhz;f. 
a) 3   b) 4   c) 5   d) 6 

 
31. Which viral infection indicates the malfunctioning of liver? 
 a) Amoebic dysentery b) Thphoid c) Hepatitis  d) All the above. 

ve;j itu]; njhw;whdJ fy;yPuypd; nray;ghl;il jtwhd nray;ghl;lhf 
khw;WfpwJ. 

 a) mkPgpf; rPjNgjp     b) ilg;gha;L 
c) n`g;gilb];      d) Nkw;fz;l midj;Jk; 

 
32. Which of the following enjoys the constitutional status: 
 1. Finance Commission    2. Planning Commission 

3. Zonal Councils     4. National Development Council 
5. Election Commission    6. University Grants Commission 

 a) 1, 3 & 5  b) 1 & 5  c) 1, 2, 5 & 6  d) 1, 3, 5 & 6 
 
 gpd;Fwpg;gplg;gl;Ls;stw;Ws; vJ/vit murpayikg;G mq;fPfhuk; ngw;wJ? 
 1. epjpf;FO   2. jpl;lf;FO  3. kz;ly MNyhrid rig 

4. Njrpa tsh;r;rpf;FO 5. Njh;jy; Mizak; 6. gy;fiyf;fof khdpaf;FO 
a) 1, 3 & 5  b) 1 & 5  c) 1, 2, 5 & 6  d) 1, 3, 5 & 6 

 
 
33. The Scheme ANWESHA was launched by 
 a) Andhra Pradesh  b) Punjab  c) Kerala  d) Odisha 
 md;Nt~h vd;Dk; jpl;lj;ij mwpKfg;gLj;jpa khepyk; vJ? 
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 a) Me;jpu gpuNjrk; b) gQ;rhg;  c) Nfush  d) xbrh 
 
34. The reason of death occurred in home has been reported in 
 a) Form 3  b) Form 3A  c) Form 4  d) Form 4A 
 tPl;by; epfo;e;j ,wg;Gfspd; fhuzk; ve;j gbtj;jpy; ngwg;gl Ntz;Lk;? 

 a) gbtk; 3  b)gbtk; 3A  c) gbtk; 4  d) gbtk; 4A 

 

35. Three candidates contested an election and received 1136, 7636, 11628 Votes 
respectively what percentage of the total votes did the winning candidate get? 

 a) 57%  b) 60%  c) 65%  d) 90% 
Njh;jypy; %d;W Ntl;ghsh;fs; Nghl;bapl;l Neh;tpy; mth;fs; ngw;w thf;Ffs; 
1136> 7636> 11628 vdpy; nkhj;j thf;Ffspy; vj;jid rjtPjk; ntw;wp ngw;w 
Ntl;ghsh; ngw;wpUg;ghh;? 
a) 57%  b) 60%  c) 65%  d) 90% 

 
36. The science of health and safeguard of body against diseases is ___________ 
 a) Community health b) Hygiene c) Etymology d) Entomology 
 Neha;fSf;F vjpuhf cly;eyk; gw;wpa mwptpay; kw;Wk; ghJfhtyhf ,Ug;gJ 
 a) r%f MNuhf;fpak;    b) Rfhjhuk; 

c) vl;bkhyh[p     d) g+r;rpfisg; gw;wpa mwptpay; 
 

37. The salient features of the Government of India Act, 1935 are: 
 1. All India Federation    2. Provincial Autonomy 
 3. Dyarchy at the Centre    4. Abolition of Dyarchy in the states 
 a) 1 & 2  b) 1, 2 & 3  c) 2, 3 & 4  d) 1, 2, 3 & 4 
 ,e;jpa muRr;rl;lk;> 1935-d; Kf;fpaj; jd;ikfs; 
 1. mfpy ,e;jpa $l;likg;G 

2. khfhzj;jpw;F jd;dhl;rp 
 3. kj;jpapy; ,ul;ilahl;rp 

4. khfhzq;fspy; ,ul;ilahl;rp Kiwia xopj;jJ 
 a) 1 & 2  b) 1, 2 & 3  c) 2, 3 & 4  d) 1, 2, 3 & 4 
 
38. What is the Mascot of the 12th South Asian Games 2016which is going to be hosted 

by India? 
 a) Leon  b) Slon  c) Tikhor  d) Gatopard 

,e;jpahtpy; eilngw cs;s 12-tJ njw;fhrpa tpisahl;L Nghl;bfs; 2016-d; 
rpd;dkhf njhpT nra;ag;gl;Ls;sJ vJ? 

 a) ypahd;  b) ];Nyhd;  c) bf;Nfhh;  d) fhl;Nlhghh;L 
 
39. Analyse the following statement: 
 Statement I:   Village Administrative officer should not inquire the Death enquiry. 
 Statement II: If the treasure is discovered, then it should be intimated to concerned 
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  Taluk Tahsildar by written statement 
 a) only I is correct      b) only II is correct 

c) both are correct      d) both are wrong 
 gpd;tUk; $w;Wfis Ma;f 

 $w;W I:- fpuhk eph;thf mYtyh; kuz tprhuiz Nkw;nfhs;sf; $lhJ. 

 $w;W II: Gijay; fz;nlLf;fg;gl;lhy; cldbahf vOj;j %ykhd jftiy  
   me;je;j tl;lhl;rpaUf;F fpuhkeph;thf mYtyh; njhptpf;f Ntz;Lk;. 

 a) $w;W I kl;Lk; rhpahdJ.   b) $w;W II kl;Lk; rhpahdJ 

 c) ,uz;Lk; rhpahdit.    d) ,uz;Lk; jtwhdit. 

 
40. Two students appeared at an examination, one of them secured a marks more than 

the other and his marks was 56% of the sum of their marks. The marks obtained by 
them are: 

 a) 39, 30  b) 41, 32  c) 42, 33  d) 43, 34 
,uz;L khzth;fs; vOjpa Njh;Tfspy; xUth; ngw;w kjpg;ngz;fistpl 
kw;nwhUthpd; kjpg;ngz; mjpfk;. xUthpd; kjpg;ngz; mt;tpUthpd; $l;L 
kjpg;ngz;zpy; 56% cs;sJ vdpy; ,Uthpd; kjpg;ngz;fs; vt;tsT? 
a) 39, 30  b) 41, 32  c) 42, 33  d) 43, 34 

 
41. Which among the following is not a waterborne disease. 
 a) Cholera  b) Amoebic Dysentry c) Diarrhoea  d) Hepatities 
 fPo;f;fz;litfspy; ePhpd; %yk; guthj Neha; vJ? 
 a) fhyuh      b) mkPgpf; rPjNgjp 

c) ilNahpah (tapw;Wg;Nghf;F)  d) n`g;gilb]; 
 
42. Which of the following statements about President’s ordinance-making power is not 

correct? 
 a)  It is co-extensive with legislative power of Parliament 
 b)  Laid down in Article 123 
 c)  Shall cease to operate on expiry of six weeks from the reassembly of the 

      Parliament 
 d) Cannot be withdrawn at any time by the President 

FbauRj; jiythpd; mtrur;rl;lk; ,aw;Wk; mjpfhuk; Fwpj;j gpd;tUk; 
$w;WfSs; jtwhdJ. 
a) ,J ehlhSkd;wj;jhy; ,aw;wg;gLk; rl;lj;jpw;Fr; rkkhd mjpfhuKk; 
   nray;ghLk; nfhz;lJ. 
b) ~uj;J 123-y; tpsf;fg;gl;Ls;sJ. 
 
c) ehlhSkd;wk; kPz;Lk; $bagpd;dh; 6 thuq;fSs; xg;Gjy; mspf;fhtpl;lhy; 
   mtrur; rl;lk; nraypoe;J tpLk;. 
d) FbauRj; jiytuhy; kPz;Lk; jpUk;gg; ngw ,ayhJ. 
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43. India’s largest National Cancer Institute is set up in which of the following states? 
 a) Andhra Pradesh b) Haryana  c) Gujarat  d) West Bengal 

fPo;f;fz;l ve;j khepyj;jpy; ,e;jpahtpd; kpfg;nghpa Njrpa Gw;WNeha; 
fy;tpafk; epWtg;gl cs;sJ? 

 a) Me;jpu gpuNjrk; b) `hpahdh c) F[uhj; d) Nkw;F tq;fk; 
 
44. The registration of rainfall is measured at daily in the morning of 
 a) 6   b) 7.30   c) 8.30  d) 9 
 kioasT gjpT> ehs;NjhWk; fhiyapy; vj;jid kzpf;F fzf;fplg;gLk;? 

 a) 6   b) 7.30   c) 8.30  d) 9 

 
45. Three numbers which are co-prime to each other are such that the product of the 

first two is 551 and that of the last two is 1073. The sum of the three numbers is 
 a) 75   b) 81   c) 85   d) 89 

%d;W vz;fSk; xd;Nwhnlhd;W rhh;gfh vz;zhf cs;sJ. mtw;wpd; Kjy; 
,uz;L vz;fspd; ngUf;Fj;njhifahdJ 551 kw;Wk; filrp ,uz;L vz;fspd; 
ngUf;Fj;njhif 1073. vdpy; %d;W vz;fspd; $l;Lj;njhifia fhz;f. 
a) 75   b) 81   c) 85   d) 89 

 
46. Which of the following statements are correct? 
 1) Peninsular rivers flow through nearly I-shaped valleys  
 2) Peninsular river have small basins and catchment areas 
 3) Himalaya rivers are suitable for navigation 
 a) 1 & 2  b) 2 & 3  c) 3 & 1  d) 1, 2 & 3 
 fPo;f;fz;l $w;Wfspy; rhpahdij fz;lwp 
 1) jPgfw;g MWfs; Mokhd „I’ tbt FWfpa gs;sj;jhf;Ffs; topahf 

gha;fpd;wd. 
 2. jPgfw;g MWfs; rpwpa ePh;gpbg;GfisAk; rpwpa Mw;W tb epyqf;fisAk; 

nfhz;lit 
 3. ,kakiy MWfs; fg;gy; Nghf;Ftuj;jpw;F Vw;wJ. 
 a) 1 & 2  b) 2 & 3  c) 3 & 1  d) 1, 2 & 3 
 
47. Which is the Incorrect pair. 
 1) female anopheles -- Malaria 
 2) Culex   -- Filaria 
 3) Aedes   -- Dengue 
 a) 2 &3  b) 1 & 3  c) 1 & 2  d) None of these 
 jtwhd ,iziaf; fz;Lgpb 
 a) mdhgpny]; ngz;nfhR  -- kNyhpah 
 b) fpa+ny];    -- Floria 
 c) Vb];     -- nlq;F 
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 a) 2 kw;Wk; 3 b) 1 kw;Wk; 3 c) 3 kw;Wk; 2 d) vJTkpy;iy 
 
48. Match the following: 
 List-I (Terms)    List-II (Defined by) 
 A. Consolidated Fund of India  1. Article 110 
 B. Money Bill    2. Article 267 
 C. Annual Financial Statement  3. Article 266 
 D. Contingency Fund of India  4. Article 265 
       5. Article 112 
 a) 4 1 5 3  b) 2 1 5 4  c) 4 1 5 2  d) 3 1 5 2 
 gpd;tUtdtw;iwg; nghUj;Jf. 
 gl;bay;-I     gl;bay;-II 
 a) ,e;jpahtpd; njhFg;G epjp  1. ~uj;J 110 
 b) gz kNrhjh    2. ~uj;J 267 
 c) Mz;L epjpepiy mwpf;if  3. ~uj;J 266 
 d) ,e;jpahtpd; rpy;yiw  4. ~uj;J 265 
    nrytpd; ejp    5. ~uj;J 112 
 a) 4 1 5 3  b) 2 1 5 4  c) 4 1 5 2  d) 3 1 5 2 
 
49. Who is the author of Ilakkiya Chuvadukal? 
 a) A. Madhavan      b) Aadhavan Sundaram 

c) Thoppil Mohamed Meeran    d) La. Sa. Ra 
,yf;fpak; RtLfspd; Mrphpah;? 
a) A. khjtd;      b) Mjtd; Re;juk; 
c) Njhg;gpy; KfkJ kPuhd;    d) yh. r. uh 

 
50. The normal rainfall in Tamilnadu (per year) 
 a) 850 mm  b) 890 mm   c) 900 mm  d) 979 mm 
 jkpo;ehl;bd; ,ay;ghd kioasT (Mz;bw;F) 

 a) 850kpkP  b) 890 kpkP   c) 900 kpkP  d) 979 kpkP 

 
51. The greatest possible length which can be used to measure exactly the lengths 7m, 

3m , 85cm, 12m, 95 cm is 
 a) 15 cm  b) 25 cm  c) 35cm  d) 42 cm 

7kP> 3kP> 85nr.kP> 12kP> 95nr.kP nfhz;l msTfis Jy;ypakhf mstpLtjw;fhd 
kpfg;nghpa msT vt;tsT? 
a) 15 cm  b) 25 cm  c) 35cm  d) 42 cm 

 
52. Which one of the following areas will receive rainfall of over 400cm? 
 a) Eastern Himalayas  b) Western Himalayas 
 c) Orissa    d) Karnataka 
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 fPo;f;fz;l ve;j gFjpapy; kiog;nghopT 400 nr.kP-f;Fk; mjpfkhf ,Uf;Fk;? 
 a),kakiy apd; fpof;F gFjp b) ,kakiyapd; Nkw;FgFjp 

c) xhprh     d) fh;ehlfh 
 
 
53. Hepatitis B can pass from the infected mother to her embryo through _______ 
 a) Blood  b) Placenta  c) Faecal-oral route d) water 
 n`g;gilb]; gp ghjpf;fg;gl;l jhaplkpUe;J fUKl;ilf;F vt;thW guTfpwJ. 
 a) uj;jk; b) eQ;Rf;nfhb c) fopT cWg;G tha; topahf d) jz;zPh; 
 
54. Match the following: 
 List-I      List-II 
 A. Token Cut Motion   1. “That the amount of the demand  

       be reduced by a specified 
        amount.” 

B. Economy Cut Motion   2. “That the amount of the demand  
                                                                           be reduced by Re 1.” 
C. Policy Cut Motion   3. “That the amount of the demand  
                                                                           be reduced by Rs 100.”  
    4. “That the amount of the demand 
                                                                           be reduced to Re 1.” 
    5. “That the amount of the demand 
                                                                           be reduced to Rs 100.” 
a) 5 1 2 b) 5 31  c) 3 1 4  d) 3 5 2 
 

gl;bay;-I     gl;bay;-II 
 a) milahs ntl;Lj;jPh;khdk; 1. khdpaf;Nfhhpf;ifapy;  
                                  Nfl;Gj;njhifapy; Fwpg;gpl;l msT  

  njhifapidf; Fiwg;gJ          
 b) nghUshjhu ntl;Lj;jPh;khdk; 2. khdpaf; Nfhhpf;ifapy; Nfl;Gj;njhifapy; 

  &1-I Fiwg;gJ. 
 c) nfhs;if ntl;Lj;jPh;khdk;  3. khdpaf; Nfhhpf;ifapy; Nfl;Gj; 

  njhifapy; & 100-I Fiwg;gJ. 
       4. khdpaf; Nfhhpf;ifapy; Nfl;Gj;njhiff;F 

  &1-I Fiwg;gJ. 
5. khdpaf; Nfhhpf;ifapy; Nfl;Gj; 
  njhifapy; & 100-I Fiwg;gJ. 

a) 5 1 2 b) 5 3 1  c) 3 1 4  d) 3 5 2 
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55. Match the following: 

Boundary Name  Countries Between 
A. Hindenberg Line - 1. India & Pakistan 
B. Maginot Line  - 2. France & Germany 
C. Radcliffe Line  - 3. North & South Korea 
D. 49th Parallel  - 4. Germany & Poland 
E. 38th Parallel  - 5. USA & Canada 
a) 4 2 1 5 3  b) 2 5 1 3 4  c) 5 4 1 3 2  d) 3 5 1 2 4 
nghUj;Jf: 
vy;iyf;NfhL    ehLfspd; ,ilapy; 
a) `pd;nld; gh;f; NfhL -- 1. ,e;jpah kw;Wk; ghfp];jhd; 
b) Nkfpehl; NfhL   -- 2. gpuhd;]; kw;Wk; n[h;kdp 
c) uhl;fpspg; NfhL  -- 3. tl kw;Wk; njd; nfhhpah 
d) 49-tJ ,izf;NfhL  -- 4. n[h;kdp kw;Wk; Nghye;J 
e) 38-tJ ,izf;NfhL  -- 5. mnkhpf;fh kw;Wk; fdlh 
a) 4 2 1 5 3  b) 2 5 1 3 4  c) 5 4 1 3 2  d) 3 5 1 2 4 

 
56. Analyse the following statements: 
 Statement I:  The book ‘Meterologica’ is written by Aristotle 
 Statement II: This book divided into four parts 
 a) only I is correct      b) only II is correct 
 c) both are correct      d) both are wrong 
  

fPo;f;fz;l $w;iw Ma;f. 

 $w;W I: ‘Meterologica’  vd;w Gj;jfj;ij vOjpath; mhp];lhl;by; Mthh;. 

 $w;W II: ,e;E}y; ehd;F ghfq;fisf; nfhz;lJ. 

 a) $w;W I kl;Lk; rhpahdJ.   b) $w;W II kl;Lk; rhpahdJ 

 c) ,uz;Lk; rhpahdit    d) ,uz;Lk; jtwhdit 
 

57. If 40% of a number is equal to two-third of another number. What is the ratio of first 
number to the second number? 

 a) 2 : 5  b) 3 : 7  c)5 : 3   d) 7 : 3 
xU vz;zpd; 40 rjtPjkhdJ kw;nwhU vz;zpd; %d;wpy; ,uz;L gq;fpw;F 
rkk; vdpy; Kjy; kw;Wk; ,uz;lhk; vz;zpw;fhd tpfpjj;ijf; fhz;f. 
a) 2 : 5  b) 3 : 7  c)5 : 3   d) 7 : 3 

 
58. Which of the following could determine the arrival /departure of monsoon winds in 

India? 
 a) Kalbaisakhi b) Norwesters c) Jet stream d) Mango showers 
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 fPo;f;fz;litfspy; vit ,e;jpahtpd; gUtf;fhw;wpd; njhlf;ff; fhyj;ijAk;> 
mJ KbtilAk; fhyj;ijAk; eph;zapf;fpwJ. 

 a) fy;igrhfp b) ehh;nt];lh; c) n[l; fhw;W d) khQ;rhuy; 
 
59. Find the Odd one out 
 a) T.B   b) Cholera  c) Tetanus  d) Polio 
 khWgl;lij fz;Lgpb. 
 a) fhrNeha;  b) fhyuh  c) nll;ld]; d) NghypNah 
 
60. The conditions of service of members of All-India Services are determined by: 
 a) President of India   b) Constitution of India 
 c) Parliament of India   d) Union Public Service Commission 
 mfpy ,e;jpag; gzpfSf;fhd mYtyh;fSf;Fhpa epge;jidfis tiuaiw 

nra;gth; 
 a) ,e;jpaf; FbauRj; jiyth; b) ,e;jpa murpayikg;G 
 c) ,e;jpa ehlhSkd;wk;  d) kj;jpa muRg;gzpahsh; Njh;thizak; 
 gpd;tUtdtw;iwg; nghUj;Jf. 
  
61. Who among the following has been appointed as new Chief Information 

Commissioner (CIC)? 
 a) Suraj Desai b) M. A. Khan Yusui c) R. K. Mathur d) Basant Seth 
 Gjpjhf epakpf;fg;gl;Ls;s Kjd;ik jfty; Mizah; ahh;? 
 a) Ruh[; Njrha; b) vk;.V. fhd; a+R+a; c) Mh;. Nf. khj;J}h; d) grd;l; Nrj; 
 
62. The first month of Pasli year is 
 a) January  b) April  c) July  d) October 
 gryp Mz;bd; Kjy; khjk; vJ? 

 a) [dthp  b) Vg;uy;  c) [{iy  d) mf;Nlhgh; 

 
63. In a bag, there are coins of 25P, 10P and 5P in the ratio of 1 : 2 : 3. If there is Rs. 30 in 

all. How many 5 P coins are there? 
 a) 50   b) 100  c) 150   d) 200 
 xU igapy; 25 igrh> 10 igrh kw;Wk; 5 igrh fhRfs; cs;sd. mjd; 

vz;zpf;ifapd; tpfpjq;fs; 1 : 2 : 3 vdTk; nkhj;jk; 30 &gha; ,Uf;fpd;wJ 
vdTk; ,Ug;gpd; vj;jid 5 igrh fhRfs; ,Uf;Fk;  

 a) 50   b) 100  c) 150   d) 200 
 
64. An outlet which leaves a main rivers and does not rejoin it, carrying its water to the 

sear or a lake, is called as 
 a) Tributary  b) Distributary c) Delta d) None of these 
 xU MW mjd; filg;gFjpapy; fliy NrUfpd;w gFjpfs; Kjd; MwhdJ gy 

fpisfshfg; gphpe;J flypy; fyg;gij vt;thW miog;gh;? 
 a) Jiz MWfs; b) fpis MWfs;  c) nly;lh d) ,tw;Ws; vJTkpy;iy 
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65. Measles and Mumps are caused by which of the following pathogen 
 a) Myxo Virus b) Paramyxo Virus  c) Refro virus d) DNA Virus 
 jl;lk;ik kw;Wk; nghd;Df;F tPq;fp vd;w Neha;fs; fPo;f;fz;litfspy; vit 

%ykhf cUthfpwJ. 
 a) kpf;]pNah itu]; b) ghukPrpNah itu];  

c) nugNuh itu]; d) DNA itu]; 
 
66. Assertion (A) and Reason (R) Pattern 
 Answer the following questions by using the codes given below. 

Assertion: The writ jurisdiction of the Supreme Court and high courts in 
India is same 

Reason: Both, the Supreme Court and the High Court can issue the writs of 
Habeas Corpus, Mandamus, Prohibition, Certiorari and Quo warranto 

a) Both A and R are true and R is the correct explanation of A. 
 b) Both A and R are true but R is not a correct explanation of A. 
 c) A is true but R is false    d) A is false but R is true 
 $w;W (k) fhuzk; tifapy; fPo;f;fz;l jfty;fis Ma;e;J rhpahd gjpiyj; 

Njh;f. 
$w;W (A) : ,e;jpahtpy; cr;r ePjpkd;w kw;Wk; cah;ePjpkd;wq;fspd; 

 ePjpg;Nguhiz mjpfhutuk;G xNu mstpy; fhzg;gLfpd;wd. 
 fhuzk; (R) : cr;rePjpkd;w kw;Wk; cah;ePjpkd;wq;fs; Mfpad Ml;nfhzh;T 

  ePjpg;Nguhiz> newpg;gLj;Jk; ePjpg;Nguhiz> jilAWj;Jk; 
  ePjpg;Nguhiz> Mtzf;Nfl;G ePjpg; Nguhiz> jFjpKiw 
  tpdhf;Nfl;G ePjpg;Nguhiz Mfpaditfis ntspapLk;. 

a) $w;W kw;Wk; fhuzk; ,uz;Lk; rhpahdit> NkYk; fhuzkhdJ $w;Wf;fhd 
rhpahd tpsf;fkhk;. 

 b) $w;W kw;Wk; fhuzk; ,uz;Lk; rhpahdit. Mdhy; fhuzkhdJ $w;Wf;fhd 
rhpahd tpsf;fk; my;y. 

 c) $w;W rhpahdJ Mdhy; fhuzk; jtwhdJ 
 d) $w;W jtwhdJ Mdhy; fhuzk; rhpahdJ 
 
67. Which country recently announced to adopt Chinese Yuan as its legal currency? 

a) Gambia  b) Namibia  c) Zimbabwe d) Cape Verde 
fPo;f;fz;l ehLfspy; ve;j ehL jw;NghJ rPdhtpd; “Athd;” ehzaj;ij 
rl;lg;G+h;tkhd ehzakhf Vw;Wf; nfhz;lJ? 
a) fhk;gpah  b) ekPgpah  c) [pk;ghg;Nt d) Nfg; Nth;L 

 
68. The Collection of Land tax for the current Pasli year is starts from the month of  
 a) January  b) April  c) July   d) October 
 elg;G grypapd; epythp tR+y; ve;j khjk; Kjw;nfhz;L Muk;gpf;fg; gLfpwJ? 

 a) [dthp  b) Vg;uy;  c) [Piy  d) mf;Nlhgh; 
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69. A sum is invested at compounded interest payable annually. The  interest in the first 
two successive years was Rs. 400 and Rs. 420 the sum is 

 a) ` 8000  b) ` 7500  c) ` 8500  d) ` 8200 
xU KjyPlhdJ; Mz;bw;F xUKiwf; fzf;fplg;gLk; $l;Ltl;bapy 
KjyPL nra;ag;gLfpwJ; ,uz;L tUlq;fSf;fhd tl;bahdJ KiwNa & 
400 kw;Wk; & 420 vdpy; KjyPl;ilf; fhz;f 

a) ` 8000  b) ` 7500  c) ` 8500  d) ` 8200 
 
70. River Luni receives which of the following tributaries? 
 a) Sarsuti  b) Sukri  c) Betwa  d) None of these 
 Y}dp MW fPo;f;fz;l ve;j Jiz Mw;wpidg; ngw;Ws;sJ? 
 a) ru;Rjp  b) Rf;hp  c) ngl;th  d) ,tw;Ws; vJTkpy;iy 
 
71. Match the following: 
 a) Tuberculosis  -- 1. Water borne disease 
 b) Cholera   -- 2. Hydrophobia 
 c) Polio   -- 3. Veneral disease 
 d) Rabies   -- 4. Infection in lungs 
 e) Syphilis   -- 5. Paralysis of limbs 
 a) 2 3 4 5 1 b) 1 4 3 5 2 c) 4 1 5 2 3 d) 5 4 3 2 1 
 nghUj;Jf: 
 a) fhrNeha;   -- 1. ePhpdhy; guTk; Neha; 
 b) fhyuh   -- 2. i`l;NuhNghgpah 
 c) NghypNah  -- 3. ghy;tpid Neha;fs; 
 d) Nugp];   -- 4. EiuaPuypy; Vw;gLk; ghjpg;G 
 e) rpgpyp];   -- 5. gf;fthjk; 
 a) 2 3 4 5 1 b) 1 4 3 5 2 c) 4 1 5 2 3 d) 5 4 3 2 1 
 
72. In which of the following stated years, the Lokpal Bill was not introduced in the 

Parliament? 
 a) 1968  b) 1971  c) 1978  d) 1985 
 gpd;Fwpg;gplg;gl;Ls;s Mz;LfSs; Nyhf;ghy; kNrhjhit ehlhSkd;wj;jpy; 

mwpKfk; nra;Jitf;fhj Mz;L 
 a) 1968  b) 1971  c) 1978  d) 1985 
 
73. Which of the following new method is introduced by RBI to calculate banks lending 

rate to borrowers? 
 a) OCLR  b) MCLR  c) IMLR  d) PSLR 

tq;fpfspy; fld; ngWgth;fSf;F fld; tpfpjj;ij fzf;fpl cjTk; Gjpa 
Kiwia hprh;t; tq;fp (RBI) mwpKfg;gLj;jpAs;sJ mtw;wpy; rhpahditia 
Njh;T nra;f 
a) OCLR  b) MCLR  c) IMLR  d) PSLR 
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74. Tamilnadu Urban Land Tax Act was introduced at first instance in 
 a) Chennai  b) Madurai  c) Tiruchirappalli  d) Coimbatore 
 jkpo;ehL efh;g;Gw epythpRr;  rl;lk; Kjd;Kjypy; vq;F mwpKfgLj;jg;gl;lJ? 

 a) nrd;id  b) kJiu  c) jpUr;rpuhg;gs;sp d) Nfhak;Gj;J}h; 

 
75. A sum of 12,500 amounts to 15,500 in 4 years at the rate of simple interest. What is 

the rate of interest? 
 a) 3%   b) 4%   c) 6%   d) 5%  

xU Fwpg;gpl;l tl;b tpfpjj;jpy; mry; 12>500-ypUe;J 15>500 Mf ehd;F 
Mz;Lfspy; caUk; vdpy; tl;b tpfpjk;? (jdp tl;b) 
a) 3%   b) 4%   c) 6%   d) 5%  

 
76. Average air pressure at the sea level is ______ millibars 
 a) 1008  b) 1020  c) 1033  d) 1013 
 fly; kl;lj;jpypUe;J ruhrhpahd fhw;W mOj;jj;jpd; msT (kpy;ypghh;fs;) 
 a) 1008  b) 1020  c) 1033  d) 1013 
 
77. Which among the following is not a RNA virus? 
 i) Polio Virus  ii) Paramyxo Virus  iii) Varicella Virus iv) Variola Virus 
 a) i & ii  b) iii & iv  c) i & iii  d) ii & iv 
 fPo;f;fz;litfspy; vJ RNA itu]; my;yhjJ. 
 i) NghypNah itu];    ii) ghukPrpNah itu]; 

iii) Nthpnry;yh itu];    iv) tphpNahyh itu]; 
 a) i kw;Wk; ii b) iii kw;Wk; iv c) i kw;Wk; iii d) ii kw;Wk; iv 
 
78. Match the following: 

List-I       List-II 
 a) Short duration discussion  -- 1. 1964 
 b) Calling attention notice  -- 2. 1962 
 c) Zero Hour     -- 3. 1953 
 d) Committee on Public Undertakings -- 4. 1954 
 a) 4 3 1 2  b) 3 4 2 1  c) 4 2 1 3  d) 3 2 4 1 
 gpd;tUtdtw;iwg; nghUj;Jf. 
 gl;bay; - I      gl;bay; - II 
 a) Fiwe;j Neu fye;Jiuahly;  -- 1. 1964 
 b) ftd <h;g;G miog;G    -- 2. 1962 
 c) Neukpy;yh Neuk;    -- 3. 1953 
 d) nghJj;Jiw epWtdq;fSf;fhd FO -- 4. 1954 
 a) 4 3 1 2  b) 3 4 2 1  c) 4 2 1 3  d) 3 2 4 1 
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79. Which among the following state has granted 180 days of maternity leave for women 
government employees in Surrogacy cases? 

 a) Rajasthan  b) Kerala  c) Tamilnadu d) Maharashtra 
gpd;tUk; ve;j khepyk; ngz; muR Copah;fSf;fhd fh;;g;g fhy tpLKiwia 
thlifj; jha; tptfhuq;fspYk; 180 ehs; tpLg;G vLf;fyhk; vd mwptpj;jJ? 
a) uh[];jhd; b) Nfush  c) jkpo;ehL  d) kfhuh~;buh 

 
80. The village Administrative Officer to Co-operate with whom to conduct Jamaband 
 a) District Collector   b) Revenue Officer    

c) Tahsildar     d) Deputy Collector 
 

 kDePjp ehs; epfo;r;rp elj;j fpuhk eph;thf mYtyh; ahUld; xj;Jiof;fpwhh;? 

 a) khtl;l Ml;rpah;     b) tUtha; mYtyh; 

c) tl;lhl;rpah;      d) Jiz khtl;l Ml;rpah; 
 

81. Mr. Sharma invested an amount of 13,900 divided in two different scheme A and B at 
the simple interest rate of 19% p.a. and 11%  p.a. respectively. If the total amount of 
simple interest earned in 2 years be 3508, what was the amount invested in scheme 
B? 

 a) ` 6400  b) ` 6500  c) ` 7200  d) ` 7500 
jpU. rh;kh vd;gth; & 13>900 ia A kw;Wk; B vd;w ,U jpl;lq;fSf;F  
njhifia xU tUlj;jpw;F 19% kw;Wk; 11% vd;w tl;b tpfpjj;jpy; KjyPL 
nra;fpwhh; mjd; nkhj;j jdp tl;bapy; ,uz;L tUlj;jpy; & 3508 ngWfpwhh; 
vdpy; mth; B vd;w jpl;lj;jpy; vt;tsT KjyPL nra;jpUg;ghh;? 

a) ` 6400  b) ` 6500  c) ` 7200  d) ` 7500 
 

82. The clouds which are “puffy” or “cotton like” in appearance is called as ___ 
 a) stratus cloud b) Cumulus cloud c) Nimbus cloud d) Cirrus clouds 
 kpUJthd ntbj;j gUj;jpia Nghd;W fhzg;gLk; Nkfk; vJ? 
 a) gil Nkfq;fs;    b) jpus; Nkfq;fs; 

c) fhh;gil Nkfq;fs;    d) fPw;W Nkfq;fs; 
 
83. Bacterias were first discovered by __________ 
 a) Louis Pasteur     b) Robert Kottch  

c) Edwared Jenner     d) Antony Leeuwenhoek 
 ghf;Bhpah Kjd; Kjypy; ahuhy; fz;Lgpbf;fg;gl;lJ? 
 a) Y}ap gh];lh;     b) uhgh;l; Nfhl;r; 

c) vl;th;l; n[d;dh;    d) Mz;ld; thd; Y}td; `{f; 
 
84. Which of the following statements are true in respect of Adjournment Motion? 

1. It is an extraordinary procedure which sets aside the normal business of the House 
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2. Its main object is to draw the attention of the House to a recent matter of urgent 
     public importance 
3. The Rajya Sabha can make use of this procedure 
4. It must be supported by not less than 50 members for introduction. 
5. It involves an element of censure against government 
a) 1, 2, 4 & 5  b) 2, 3 & 5  c) 2, 3 & 4  d) 1, 2 & 4 
xj;jpitg;G jPh;khdk; Fwpj;j gpd;tUk; $w;WfSs; rhpahdijj; Njh;f. 
1. ehlhSkd;w mitapd; ,ay;ghd eilKiwfspypUe;J tpyf;fp 
  itf;fg;gl;Ls;s mrhjhuzkhd eilKiw. 
2. nghJkf;fspd; mtru Njitfshf Vw;gLk; Gjpa tp~aq;fspd; kPJ 
  ehlhSkd;w mitapd; ftdj;ij <h;g;gNj ,jd; Kf;fpa gq;fhFk;. 
3. ,t;tif eilKiwia khepyq;fsit nray;gLj;j KbAk; 
4. ,j;jPh;khdj;ij mwpKfk; nra;J itf;f 50 cWg;gpdh;fSf;F Fiwahj 
  vz;zpf;ifapy; Mjutspf;f Ntz;Lk;. 
5. murhq;fj;ij vjph;j;J fz;ldk; nra;aj;jf;f mikTilaJ 
a) 1, 2, 4 & 5  b) 2, 3 & 5  c) 2, 3 & 4  d) 1, 2 & 4 

 
85. How much cropped area in India is presently covered under Crop Insurance Scheme? 
 a)    23%  b) 27%  c) 31%  d) 40% 

,e;jpahtpy; jw;NghJ gaph;fhg;gPl;L jpl;lj;jpd; fPo; cs;s epyq;fspd; rjtpfpjk; 
vt;tsT? 
a)    23%  b) 27%  c) 31%  d) 40% 

 
86. The ordinance for eradication of partial village officers was came to force in 
 a) 1976  b) 1978  c) 1981  d) 1984 
 gFjpNeu fpuhk mYtyh;fs; xopg;G mtrur;rl;lk; vg;NghJ mKYf;F te;jJ?

 a) 1976  b) 1978  c) 1981   d) 1984 

 

87.  5930 +  8465 =  ?  2 
 a) 15   b) 14   c) 13   d) 12 
 
88. Match the following? 
 1) Troposphere  -  a) Auroras 
 2) Stratosphere  -  b) isothermal layer 
 3) Ionosphere  -  c) lighted gases present 
 4) Exosphere  -  d) temperature decrease as increase in height 
 a) d, b, a, c  b) d, b, c, a  c) b, d, a, c  d) b, d, c, a 
 nghUj;Jf:- 
 1) mbaLf;F - a) tz;zkakhd fhl;rpfs; 
 2) gilaLf;F - b) rkntg;g mLf;F 
 3) madp mLf;F - c) Fiwthd vil thAila thAf;fisf; nfhz;l  
       mLf;F 
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 4) ntsp mLf;F - d) cauk; mjpfhpf;f ntg;gepiy FiwT Vw;gLjy; 
 a) d, b, a, c  b) d, b, c, a  c) b, d, a, c  d) b, d, c, a 
 
89. Match the following agents that cause the disease:- 
 a) Biological agent   -- 1. Humidity 
 b) Nutrient agent   -- 2. friction 
 c) Chemical agent   -- 3. viruses 
 d) Physical agent   -- 4. carbohydrates 
 e) Mechanical agent  -- 5. spores & pollens 
 a) 5 4 1 3 2 b) 3 4 5 1 2 c) 3 4 5 2 1 d) 5 4 3 1 2 
 nghUj;Jf: Neha; Vw;gLj;Jk; fhuzpfisAk; Neha;fisAk; 
 a) caphpay; fhuzp  -- 1. <ug;gjk; 
 b) Cl;lr;rj;J fhuzp  -- 2. cuha;T 
 c) Ntjpapay; fhuzp  -- 3. itu];fs; 
 d) ,aw;gpay; fhuzp  -- 4. fhh;Nghi`l;Nul; 
 e) ,ae;jpu fhuzp  -- 5. tpj;Jf;fisAk; kw;Wk; kfue;jq;fSk; 
 a) 5 4 1 3 2 b) 3 4 5 1 2 c) 3 4 5 2 1 d) 5 4 3 1 2 
 
90. The correct statements about zero hour includes: 
 1. It is the first hour of every sitting in both the houses of Parliament. 
 2. It is mentioned in the Rules of Business of the houses of Parliament. 
 3. During this time, matters are raised without any prior notice. 
 4. It is the time immediately following the Question Hour in both the houses of 

     Parliament.  
 5. It is an Indian innovation in parliamentary procedure since 1964. 
 a)  2, 3 & 4  b) 3 & 4  c) 1, 2, & 5  d) 2, 3 & 5 

Neukpy;yh Neuk; (g+[;a Neuk;) vd;gJ Fwpj;jhd gpd;tUk; $w;WfSs; 
rhpahdtw;iwj; Njh;f. 
1. ehlhSkd;wj;jpd; ,U mitfSk; $Lk; mkh;tpd; Kjy; xU kzp Neuk;. 
2. ehlhSkd;w mitfSf;fhd elj;ij tpjpfspy; ,jidf; Fwpj;j tptuq;fs; 
  cs;sd. 
3. ,e;j fhy Neuj;jpy; Kd; mDkjp ngwhj tptfhuq;fisAk; tpthjpf;fyhk;. 
4. ehlhSkd;w ,U mitfspd; Nfs;tp Neuj;ij njhlh;e;J cldbahf tUk; 
  Neuk; 
5. 1964-k; Mz;by; fz;lwpag;gl;l ,e;jpa eilKiwahFk; 
a)  2, 3 & 4  b) 3 & 4  c) 1, 2, & 5  d) 2, 3 & 5 

91. The World Braille Day is observed on_____________ 
a) January 2 b) January 4  c) January 6  d) January 8 
cyf gpnua;yp jpdk; mDrhpf;fg;gLk; ehs; ____________ 
a) [dthp 2 b) [dthp 4 c) [dthp 6 d) [dthp 8 
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92. The Register contains the details of land which are laid in lease has the parts 
 a) 2  b) 3  c) 4  d) There is no limit 
 Fj;jiff;F nfhLf;fg;gl;l epyq;fisg; gw;wpa gjpntL C vj;jid gphpTfisf; 

nfhz;lJ? 

 a) 2  b) 3  c) 4  d) tiuaiw fpilahJ. 
 

93. 67.77% of 9531.55 – 43.33% of 5436.30 = ? 
 a) 220% of 1883.76    b) 110% of 2589.67 

c) 50% of 6595.25     d) 45% of 4596.75 
 
94. Which zone of the earth is called as “a belt of calm” of 
 a) Equitorial low pressure belt 
 b) Subtropical low pressure belt 
 c) Subpolar low pressure belt 
 d) Polar High pressure belt 
 g+kpapd; ve;jg;gFjp mikjpkz;lyk; vd miof;fg;gLfpd;wJ? 
 a) g+kj;jpa jho;tOj;jg; gFjp 

b) ntg;g kz;ly cah; mOj;jg; gFjp 
 c) Jiz JUt jho;tOj;jg; gFjp 
 d) ntg;g Jut cah; mOj;jg; gFjp 
 
95. Which among the following is true about Congenital diseases. 
 i) These diseases are preset at the time of birth 
 ii) They could be due to genetic abnormality 
 iii) They could be due to malfunctioning of any organ or system 
 iv) They are permanent, generally not curable and may be inherited to the children 
 a) i, ii , iii & iv are true     b) i, ii, & iv are true 

c) i, iii, & iv are true     d) i, ii, & iii are true 
 gpd;tUtdtw;wpy; vit gpwtp Neha;fspy; rhpahdit. 
 i) ,e;j Neha;fs; gpwe;j Neuj;jpy; cUthFgtd. 
 ii) kugZ gpwo;e;jth;fshf ,Ug;ghh;fs; 
 iii) mth;fSf;F ve;j cWg;Gk; my;yJ mtw;wpd; mikg;G jtWjhyhf 

,Uf;Fk; 
iv) ,e;j NehahdJ epiyahdJ> Fzg;gLj;j KbahjJ. mLj;j 

jiyKiwapd; Foe;ijfSf;F tuf;$baJ. 
 a) i, ii, iii & 4 b) i, ii, iv kl;Lk; c) i, iii, iv kl;Lk;  d) i, ii, iii kl;Lk; 
 
 
96. The institution of Lokayukta was created first in Maharashtra in: 
 a) 1970  b) 1972  c) 1973  d) 1971 
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Nyhf; MAf;jh mikg;G Kiw Kjd;Kjyhf kfhuh~;buhtpy; vg;NghJ 
cUthf;fg;gl;lJ? 
a) 1970  b) 1972  c) 1973  d) 1971 

 
97. Match the following: 

Awards/Prize   Field 
a)  Pulitzer Prize  - 1. Agriculture 
b) Bourlog Award  - 2. Science 
c) Dhanwantari Award - 3. Journalism 
d) Kalinga Award  - 4. Medical Science 

     - 5. Literature 
a) 5 4 1 2  b) 3 1 4 2  c) 5 1 4 3  d) 3 1 2 5 
nghUj;Jf: 
tpUJ / ghpR   Jiw 
a) Gypl;rh; tpUJ  -- 1. tptrhak; 
b) Nghh;yhf; tpUJ -- 2. mwptpay; 
c) jd;te;j;hp tpUJ -- 3. gj;jphpif Jiw 
d) fypq;fh tpUJ  -- 4. kUj;Jt mwptpay; 
    -- 5. ,yf;fpak; 
a) 5 4 1 2  b) 3 1 4 2  c) 5 1 4 3  d) 3 1 2 5 

 
98. Which of the following is primary and fundamental structure to District Revenue 

administration?  
 a) Village administration    b) Municipating administration 
 c) District administration    d) All the these 
 khtl;l tUtha; eph;thfj;jpw;F Kjd;ik MjhukhfTk; KJnfYk;ghfTk; 

cs;sJ. 

 a) fpuhk eph;thfk;  b) efu eph;thfk;  c) khtl;l eph;thfk; d) ,k;%d;Wk; 
 

99. (1.23) ² + (2.34)² / 2.34 – 1.23 × 10 = ? 
 a) 61   b) 63   c) 65   d) 67 
 
100. Match the following: 
 Rivers    District 
 1) Vaippar  - a) Tirunelveli 
 2) Gundar  - b) Thoothukudi 
 3) Kothaiyar  - c) Virudhunagar 
 4) Chitlar  - d) Kanyakumari 
 a) c, b, a, d  b) c, b, d, a  c) b, c, d, a  d) b, c, a, d 
 nghUj;Jf. 
 MWfs;   khtl;lk; 
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 1) itg;ghW - a) jpUney;Ntyp 
 2) Fz;lhW  - b) J}j;Jf;Fb 
 3) NfhijahW - c) tpUJefh; 
 4) rpw;whW  - d) fd;dpahFkhp 
 a) c, b, a, d  b) c, b, d, a  c) b, c, d, a  d) b, c, a, d 
 
Answer Key 
 

1. c 2. b 3. b 4. c 5. c 6. d 7. b 8. a 9. b 10. c 

11. c 12. a 13. b 14. d 15. a 16. c 17. c 18. d 19. c 20. d 

21. a 22. d 23. b 24. c 25. c 26. b 27. d 28. b 29. c 30. d 
31. c 32. b 33. d 34. d 35. a 36. b 37. d 38. c 39. a 40. c 

41. b 42. d 43. b 44. c 45. c 46. b 47. d 48. d 49. a 50. d 
51. c 52. a 53. b 54. c 55. a 56. d 57. c 58. c 59. d 60. c 

61. c 62. c 63. c 64. b 65. b 66. d 67. c 68. a 69. a 70. b 
71. c 72. c 73. b 74. a 75. c 76. d 77. a 78. b 79. d 80. c 

81. a 82. b 83. d 84. a 85. a 86. c 87. c 88. a 89. b 90. b 

91. b 92. b 93. a 94. a 95. a 96. d 97. b 98. a 99. b 100. c 
 


